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SA CHET
M OMET R
el HEEE2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OR0A & d&| 84
9,160,000& 9,160
= 2,750
Al 6,410
03 A= 5,000 0 5,000
020243 S| ADHE s
5,000,000 5,000
< 1,500
Al 3,500
307 elztol & 44,660 30,000 14,660
= 13,398
Al 31,262
06 28= 44,660 30,000 14,660
OAIZICHN 2E8g 44,660,000 44,660
= 13,398
Al 31,262
401 AIEHIZ SR HYI 90,000 90,000 0
[ 27,000
Al 63,000
01 Al&HI 90,000 90,000 0
OOHEE HeN2l B4 A
30,000,000& 30,000
= 9,000
Al 21,000
OXSotE X2 HH tMOtE US| AL
60,000,000& 60,000
== 18,000
Al 42,000
SHHHHLES 95,800 87,000 8,800
101 @124H| 25,000 0 25,000
M ORIMZZ2NSE S 25,000 0 25,000
OAXEAXZ0| ESH X2
25,000,000& 25,000
201 er2 3| 48,100 3,000 45,100
01 AtR2t2|HI 48,100 3,000 45,100
O+ 8,100
OSUMHo0lY 2= 3,000,000& 3,000
OSUMaNY HR=E 224 =S4
3 ooo& 3,000
OSU Mol AHMEHES & E2=F 72
2,100,000& 2,100
O2c|E9H 40,000
OSUoole dMEA2LIMA 7= B
=Y 40,000,000 40,000
202 04l 2,700 2,000 700




SA CHET
M OMET R
el HEEE2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 2,700 2,000 700
OSUMalioe SR=A 2,700,000& 2,700
401 Al HIX S0 20,000 20,000
01 AlZH| 20,000 20,000
OSUMall 2158 ot Ha o 2
20,000,000 20,000
ARl O & E =S 32,264 0 32,264
201 2= 22,236 22,236
01 At22t2lt] 22,236 22,236
OABITHL o=z 4,000,0002! 4,000
ONUORMES 2o 8am S
1,000,000 1,000
OARIHUS S S2=SHH
3,000,000& 3,000
O=IIAJUAY S QT2 dHEH
=g 8,280,000& 8,280
OMIT HRFE SAH
3,000,000& 3,000
ONHTIS 22 SA (422, e
=) 2,956,000& 2,9%
202 04| 4,028 4,028
01 =LHOLI 4,028 4,028
OARITHE HRFE 4,028,000 4,028
301 EtE NS 6,000 6,000
11 dALEEIXIE S 6,000 6,000
ORIZHIE DS U HEES 22
3,000,002 3,000
OIS QRBIREY HAT AHI2
3,000,000& 3,000
2y 24 593,225 596,472 N3, 247
= 4,950
=S 46,214
Al 542,061
g 24 434,943 573,615 A138,672
201 et 3| 54,450 45,833 8,617
01 AtR2te|Hl 32,130 23,513 8,617
O et=EZH 24,314
oglgte g4 3,940,000 3,940
ORIel AHOIH = 8,677,000& 8,677
olgfus & 28 8%
4,000,000& 4,000
ougANE Wi & 2 SR MH
S 2,390,000 2,390
ozt +¢ 3,307,000& 3,307




SA CHET
M OMETR
ool lgtel 2 (ol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oHI&UHl AXEY FX(SK . R, 3EE
g gz s) 2,000,000& 2,000
O=¢gtl 7,816
olet? HRFA 3,816,000& 3,816
OHI&tHHIE™ LRFX(EX, 2, 3H)
4,000,000 4,000
2 5234l 22,320 22,320 0
OZZ23LHA 15,705
O=d g3l SHRks
2,385,000 2,385
onlgte FEAE HEH 23
1,000,0002! 128 12,000
ORIYRADS MHIX 01823
110,000& * 122 1,320
OAEEH =AY 6,615
oelgel AIZEH |SXEx(SAIE, I
A& ZEAE §) 6.615,000& 6.615
301 EtE NS 135,002 281,318 146,316
0 AR=R22as 135,002 281,318 N146,316
OJz2s 800,000 «11E« 122 105,600
O34l 7,0003 11 +20L 122 18,480
OusSH| 3,300& 112 *202 « 128 8,712
OILl=4| 309,840 +5&H 1,550
O4olEE 60,0002~ 11& 660
308 AHXIEMSOIH 98,316 91,425 6.891
2 oblZsddgdydEx 98,316 91,425 6,891
OXg0blzZ S At
98,316,000& 98,316
401 Al HIZ R 0HbI 30,000 30,000
01 AlZ8| 30,000 30,000
OXS0BIZSUH AIZIHEs SA
30,000,000 30,000
403 AXIEHHISAH=0l 117,175 121,990 AN4,815
03 OHlZ=S4dXAN2EX 17,175 121,990 N4,815
OXg0dl=Z SYXNE A
117,175,000& 117,175
QeI NSRAHI(EX) 10,512 10,817 A305
= 3,580
= 2,079
Al 4,853
201 er=23| 2,883 2,806 7
= 1,291
== 478
Al 1,114
01 At2teltl 2,274 2,123 151
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SA CHET
M OMETR
=Sl MHogEs (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,500
=S 23,772
Al 56,233
Mol 2 & S 28,266 27,846 420
201 et 3| 3,800 3,800
01 At22t2l] 3,800 3,800
O et=ZH 3,800
OXNEYNE BHEs =5 7Y
3,800,000& 3,800
206 M=l 15,000 15,000
01 M=4l 15,000 15,000
OXfoflolg= 2ef=0iL 2
10,0002 *500H 5,000
O==27THH 7(e= S)
5,000& *1,0000H 5,000
O & (1=0HH)
10,000 *500H 5,000
301 EtE NS 3,550 3,550
14 JIEt2 a3 3,550 3,550
OXNE2 Y us 28l
20,0002 %150 3,000
OlEg Y S2us g
50,0003 *11H 550
302 OI=L Mot 2 &= 5,916 5.4% 420
02 2N S A2 S22 5,916 5,4% 420
ONEYMY Mt E5+E
9,800 150 *4A| 2t 5,916
S=0] ATAIE EXAS(EX) 1,239 2,476 A1,237
== 372
Al 867
201 =3 1,239 2,476 A1,237
< 372
Al 867
01 At22t2lt] 1,239 2,476 A1,237
O =ZH| 1,239
ONEE ==0] AF Ul B2 A
1,239,000 1,239
= 372
Al 867
S0 EEMS(EX) 40,000 40,000 0
[ 20,000
Al 20,000
307 glztol & 40,000 40,000 0
= 20,000
Al 20,000
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2A:

QRS AN =t

Hu: (=)
SR TEE (Shol: &2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 214,477 185,837 28,640
01 At2teltl 131,640 103,000 28,640
O3 h| 53,000
ougs+ g =M 2,000,000& 2,000
Ost=¢gs SEald Aalt|
1,000,000& 1,000
O848k &Y 50,000,000 50,000
0=g+y 4,900
OAIEMOHZSfY BIIRIRe 29
70,0002 x5 x 143 4,900
O3l 6,500
OlY=T P2EX 22X A
4,000,000 4,000
OMHHS LR (HIY2R, A
HEL) 2,500,000 2,500
Ogx= 67,240
oNsissS=s+ X
67,240,000 67,240
2 35234l 82,837 82,837 0
OZ2Z22=LHAl 29,137
ORENE 2F=NFAE IS
17,000,000& 17,000
oMY GIFEAMAY HIIRs S
12,137,000& 12,137
OAEEHISs X 53,700
ORENE RF=NFANE RAE+
37,000,000 37,000
OTHE HIZEAIAE S22l
16,700,000 16,700
206 M=l 1,000 1,000
01 MZH| 1,000 1,000
ONL OIZEAAE 2QXT 7
1,000,000 1,000
401 AIZHIX 20 568,500 550,000 8,500
01 AlZH| 558,500 550,000 8,500
OoN:=ieg & =52 500,000,000& 500,000
O HBEAE |RAES EY
22,000,000 22,000
OREF ME SLHBAE B B8
36,500,000& 36,500
Mo EXFHB(SSA) (EX) 9,300,000 10,774,000 1,474,000
[ 4,650,000
= 1,860,000
Al 2,790,000
401 AlZHIZ SO 9,300,000 10,774,000 A1,474,000




2A:

X XH -
o=

QRS AN =t
=2t

ool olg=nEs CERED
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 4,650,000
=S 1,860,000
Al 2,790,000
01 AIZHI 9,260,400 10,740,172 N1,479,772
OSAX7 TSR 7 EHl
2,391,360,000& 2,391,360
= 1,195,680
= 478,272
Al 717,408
O=3HA7 MHHTHoi ISR+ Ehl
993,700,000 993,700
= 496,850
=S 198,740
Al 298,110
O0teHA 7 S+l S8
993,700,000 993,700
s 496,850
== 198,740
Al 298,110
OZ NG 7 Sroided S8 &l
2,192,080,000& 2,192,080
= 1,096,040
== 438,416
Al 657,624
02 S S0 AN Sl
198,560,000 198,560
= 99,280
[ 39,712
Al 59,568
OS2 SAAT 21 AN F
2,491,000,000& 2,491,000
= 1,245,500
< 498,200
Al 747,300
03 A2 THYI 39,600 33,828 5,772
OS A7 XSATHHRIEIHE X7
8,640,000& 8,640
[ 4,320
== 1,728
Al 2,592
O3+ MHHTHoH SR+ Ehl
6,300,000& 6,300
[ 3,180
= 1,260
Al 1,890




2A:

QRS AN =t

Hu: (=)
R ogsREs EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O0teHA 7 Sl dEd S S
6,300,000& 6,300
= 3,180
[ 1,260
Al 1,890
OZ M7 S+l S Il
7,920,000& 7,920
= 3,960
< 1,584
Al 2,376
02 S S AN FH|
1,440,000& 1,440
[ 720
< 288
Al 432
O=42 S3AHN S /I8N i
9,000,000 9,000
[ 4,500
= 1,800
Al 2,700
Hg=sEs(2x) 1,100,000 2,100,000 1,000,000
=S 330,000
Al 770,000
401 Al HIZ R 0HbI 1,100,000 2,100,000 1,000,000
== 330,000
Al 770,000
01 Al&HI 1,092,080 2,084,880 992,800
07381 2n(A=H) AR2 SSAE FH|
A+ 595,680,000 595,680
= 178,704
Al 416,976
OB4s HEGH AWE 002 FHIAY
496,400,000 496,400
=S 148,920
Al 347,480
03 A2 20 7,920 15,120 AT7,200
07381 2n(A=H) 472 SSAE FH|
A+ 4,320,000 4,320
= 1,296
Al 3,024
OB 4s HHEGHE AW 002 EHIAY
3,600,000 3,600
s 1,080
Al 2,520
ot FH| 16,634,398 12,420,668 4,213,730
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SA CHET
I ot E|
chel: otdzel EER=E)
SA - B BRA(SH) - HRA - of v e HIDE2
ocBEx=E IISE +2d3AE
15,000,000 15,000
206 M=l 2,000 2,000
01 M=4l 2,000 2,000
Ootd JIdH Mg + 1,000,000& 1,000
SEAN S S 2
1,000,000 1,000
401 Al HIZL 01| 1,103,960 950,000 153,960
01 Al&H| 1,100,000 950,000 150,000
Ot RA2(XY6HA, A51A)
400,000,000 400,000
Ootd St==&(XLotd, 256td)
300,000,000 300,000
OYENSHE At 2LIEE
100,000,000 100,000
OXLotd, 20td MIEY A
200,000,000 200,000
O0I24 SHEBEYEX EAHI(XIotA, A
5t&) 100,000,000 100,000
03 Al 20HHI 3,960 0 3,960
OotdF A2+ A2
3,960,000 3,960
A EHI () (HEAIY) 6,609,480 4,704,000 1,905,480
401 AIZHIZ SO 6,609,480 4,704,000 1,905,480
01 Al&H| 6,593,000 4,704,000 1,889,000
ASHE(FEH) EHI A
500,000,000 500,000
OLGHE (EXd) HH| At
2,093,000,000& 2,093,000
OA5HE (0t ) FH| At
1,800,000,000& 1,800,000
OASHE (AHE A (237))ZHI At
500,000,000 500,000
OAGHE (A ) FH| At
1,000,000,000& 1,000,000
OAL5HE (2 =3)EH] At
700,000,000& 700,000
03 AIZ 2 THYI 16,480 0 16,480
A (e (MEAY) 2T
16,480,000 16,480
St RXl2el(ExX) 1,220,000 960,000 260,000
= 35,000
= 455,000
Al 730,000
401 Al HIZ S 0HbI 1,220,000 960,000 260,000
[ 35,000




SA CHET
I ot E|
ol StE e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 455,000
Al 730,000
01 A&t 1,216,535 954,393 262,142
ORI |X24 MY
546,535,000 546,535
= 213,267
Al 273,268
OADIE HEZCIAAE RE(FLH)
70,000,000 70,000
[ 35,000
Al 35,000
O&staotd FHIAY 600,000,000 600,000
= 180,000
Al 420,000
03 AIE R 0HHI 3,465 5,607 A2,142
OX Yot =AE24 At 3,465,000 3,465
s 1,733
Al 1,732
2016t RAESAIG(EX) 888,000 735,000 153,000
= 888,000
101 21A4H| 28,000 28,000 0
= 28,000
M IRINZZ2NSE 28,000 28,000 0
OIS 24 212
28,000,000& 28,000
= 28,000
201 er23| 17,000 17,000 0
= 17,000
01 At2t2l] 7,000 7,000 0
O et=ZH 7,000,000 7,000
= 7,000
02 S3=gHl 10,000 10,000 0
OS2 A 3,000,000& 3,000
= 3,000
OAIEEH|=XH 3,000,000 3,000
= 3,000
OXtE et 4,000,000& 4,000
= 4,000
401 Al HIZL 01| 843,000 690,000 153,000
= 843,000
01 AlZ28| 840,000 687,000 153,000
O=Itotd =X 24 840,000,000 840,000
= 840,000




SA CHET
T SHEFY
Che: ot &el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& S CHYI 3,000 3,000 0
O=Itotd = A2 3,000,000& 3,000
= 3,000
NS EH(SLH) (MEAY)(EX) 6,740,000 5,000,000 1,740,000
= 4,717,000
Al 2,023,000
401 Al HIZL 201 6,740,000 5,000,000 1,740,000
= 4,717,000
Al 2,023,000
01 Al&H| 6,720,110 4,986,500 1,733,610
OBLH(SANT) 518 F
5,925, 150,000 5,925,150
=S 4,146,608
Al 1,778,542
OB2H(BETT) 51& F
794,960,000 794,960
= 556,472
Al 238,488
03 AIZ 2 THYI 19,890 13,500 6,390
OS2 (SAHXF) otd FHl
14,850,000 14,850
s 10,392
Al 4,458
02 (BENT) o By
5,040,000& 5,040
= 3,528
Al 1,512
Hegs(etesz ) 596,961 535,934 61,027
SRS (HETHE ) 596,961 535,934 61,027
L HeH X & (HA TH ) 596,961 535,934 61,027
R I1sdES 596,961 535,934 61,027
UIPIETSE— 536,961 535,934 61,027
ol2eliz 853 596,961,000 596,961
HH2LZHI(LHTHL D) 31,200 58,260 A27,060
Z2HI(QHE L) 31,200 58,260 A27,060
JlE2ZHI (&I 31,200 58,260 A27,060
202 04| 26,400 25,200 1,200
01 =LHOLI 26,400 25,200 1,200
OSE£d0t| 100,000 x22E «12& 26,400
203 HR=&H] 4,800 4,200 600
M EA2ER=AH 4,800 4,200 600
OCHA TH Lt 400,000& 123 4,800

_15_




